@D 4:5 @ 49] 591 tigt H]
® 4¢+5 @ 40f thgt 59] H|
B 59 tist 4 2] H]






3.

ohg Hl9] ghe FokAlL,

1.4:1-




= HEbfoizt.




288 Fo14 2.

5)3]
3N

HAT, A of o

ol
ol

%

-

ul



Y sk Bael gl Ao £RE 2Abske] LErd
1 A 9} wzu 48 P e Ao e
531 A Wo A S3kao] A H)S Mg

S5 [0 | S190A [t A [wsh | A
(8) 120 80 75 25 300

%



5] 5 71l 3500 Yof] T 5Tt

St 7ol 800 ¢ St AtHE &l
grolste] mh= A Y77

Agol BH 74 B % & €

S ER %



o5 8XZt 0.2 Lol A ‘WO]—‘E} Auprp 3274 W1, FAL
U 2)& "oyt djxlo|7F 52 mjztof tigt FA o] H-2 1] 2te]
Hl&-S G9A Ut A2 o] =AY Y71

@© 30f gt 39] v @ 61} 22] H]

® ; @ 3:2

® 29 tot 32] H]|



9.

ohe % Mol e AT vkl

®3ﬂmﬂ7ﬂﬂe2%
2
@2:5—>g

@4Q7QMH§



K
25
© 0.25

Q

1. 4 16
2. 12:50

© 0.875

3.7} 9 H

® 2-O 3 3-© @ 3-( ® 2-©

D 1-O



11.

ol s ele
=2 7F 270k 5

A et F= 71 syt A 451t T,

yrh 24

bl ZLe ol AU

D 30% ® 35%

ol B o] 55 MEEE vl

® 40% @ 45% ® 50%



12. A7 40 7, ¥171 50 ) Qe Akake] Ao wie] o] vt

Ha2 2 % AY7r?

S Ef %



13. the F 69 B9 ko) A8 252 AL,

13:52, 13:25

D 0.27 ® 0.25 3 0.52 @ 0.72 B 2.7



14. Aol 24000 4L A 1AL, I ZF 45% S Fropr] 2He Eo]
60 %= 7HA 21 e AEUTh A A =2 urduzk

e 9



15.

9] 60 %olaL, FAt
27} 288 W o]ehd



=, 1

5

<k

=0
;o_v

T

A

oly] yte]

o1 20% dYet. A=

514y

A

!
ol
o

jang

o
s
Tod

s

G 329

@ 349

_,mo

® 36

@ 38 ™

@ 409



A

d

AL 360 o=

6 o o
o] A &t

w4 o]y st o]

17.

QU742

BEo

s

)
<

L

g

=
Tol

1

ol

—_—

m]

B



@ 3407 ® 3604

G 4009

@ 310
@ 380



